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rgb’, and CIE data of a elementary (e) hue circle

rgb’, and CIE data of a elementary (e) hue circle

rgb’, and CIE data of a elementary (e) hue circle
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rgb’, and CIE data of a elementary (e) hue circle

rgb, and CIE data of a elementary (e) hue circle

according to CIE R1-47:2009 forsRGBdisplay L, =0,6%

NIOOW=W, 954 00 00 00 00 10010010

rgb, and CIE data of a elementary (e) hue circle
according to CIE R1-47:2009 forsRGBdisplay L,

6%

3
NIOOW,=W, 954 00 00 00 00 10010010

rgb, and CIE data of a elementary (e) hue circle

according to CIE R1-47:2000 forsRGBdisplay L, =2,5%

6
NIOOW,=W, 954 00 00 00 00 10010010

rgb, and CIE data of a elementary (€) hue circle

according to CIE R1-47:2000 forsRGBdisplay L, =2,5%

= 16 step clementary hue Gicle with hueshy o= 25,92, 162, 271 3 colours ofth elementary NuSR YGRS N o= 25, 92,162,271 16 step slementary hue Gicle with hueshy o= 25,92, 162, 271 3 coloursofthe elementary SR YGRS Ny o= 25, 92,162,271

Iy Cote  Lue ae ae Clbao e W Cote  Lue Fae Dae Clbao e W Cote  Lue ae ae Clbao e W Cote  Lue ap ae ClbasMawe W

o RODG=R, 5.4 766 365 849 254 10000000 | RO%=R, 514 766 305 649 254 100000000 | RODG=R, 530 726 345 04 254 10000000p | ROD%=R, 30 726 345 804 254 10000000

= RoS, | 58 627 613 913 421 10002500) | 0SR-0SN 285 33 182 424 254 05000000p | Rz . 5.4 595 539 803 421 100025000 | 0SR-0SN 35 363 172 402 254 05000000

IS RSO, 616 411 680 795 5 10005000) | 0SR0SW 734 B3 182 424 254 1000500Sp | RSO 657 373 67 721 58 10005000) | 0SR+0SW74Z 363 172 402 254 10005008

o RS, 731 191 786 770 755 10007500 RS, 740 117 0 712 756 10007500

b V0=V, 36 32 624 624 922 10010000 | YO0G=Y 636 32 824 24 922 100100000 |VOOG=Ye 838 30 774 775 922 10010000) | Y00G=Ye 838 30 774 775 %22 10010000

g VEse " Gab a 671 0rs 107 0731000(p | OBGROMN 446 a8 42 s G CS00S00G | VIS © sz o #0 oap i0ab 07510000 |0SKeOMN 08 48 a67 a7 2z 0s00m0th —f

¢ VS0 Bl 618 12 10211272 0S0L0000D | 0S%+0SW 89S L6 412 412 S22 10010008 |VSOG 865 57 771 969 1272 050100000 | 0S%-OSWE9s 15 387 387 522 10010008

» YiSG 841 758 535 929 1447 0251000, YiSG 844 735 519 00 1447 0251000, @

[ GOR=G, 852 635 203 667 1622 0001000, 635 203 667 1622 0001000h | GOR=G, 854 615 107 646 1621 0001000Gh |GNE=G. 54 615 197 646 1621 0001000

T Gase, 872 491 -82 498 1805 00010005 | 05G+O0SN 454 -317 101 333 1622 0000500, G258, 874 -477 -80 484 1895 0.001000. 05G+0SN 517 307 98 323 1621 0000.500. 3

KN s 792 335 253 421 2170 0001001h | 05GOSWSO3 317 101 333 1622 05010008 |GSOR 797 326 246 408 2170 00010010 | 05GOSW 4 -7 88 23 1621 05010008

) GrsR 703 (186 388 430 2643 0000501 GrsR 711 (180 -3s 416 2643 0000501 2

= BOR-B, f7 17 54 54 2117 000000ich | BOR-B, 597 17 554 54 2117 0o0000ich | GOOR-B, @9 15 535 36 2117 0m0000ich |eoR-B, 09 1s 535 36 2117 ow000ich B

£} BRS04 1034301 0500001ch |0SRO0SN 37 08 217 217 a7 OOWOS | EAR 45 03 B66 1002301 0500001th |0SR%0SN N4 08 207 200 217 0000000
Bs0R, 5.7 929 567 1088 286 10000010) | 0SB+0SW 7?6 08 217 217 2117 0500501 |BSOR, 590 891 -544 10443286 1000001Ch |OSK-0SW 781 08 267 268 2717 0500501y D

@ BTSR, 530 89 -41 810 357.0 1000000, B75R, 545 771 -40 772 3570 1000000, [0]

= ¢

= 5 step equidistant grey scalet* o= 5.6, 28.1, 505, 72.9, 95.4 5 step equidistant grey scalet* = 5.6, 28.1, 505, 72.9, 95.4 5 step equidistant grey scalet* o= 18.0, 37.3, 56.7, 76.0, 95.4 5 step equidistant grey scalet* , = 18.0, 37.3, 56.7, 76.0, 95.4 o

Lio a0 Das Clabao Mane 100 Cote  Lug #ap Dae Clibac e W ie e Das Clabao hane 100 io a0 Das Clabao hane 100 S

NOOOW=N, 56 00 00 00 00 00000000) |NOOWsNS6 00 00 00 00 00000000f |NOOOW=N 180 00 00 00 00 00000000 | NGOOWe=Ne 180 00 00 00 00 00000000} (o
No2SW 281 00 00 00 351 02502502h | NOZSW 281 00 00 00 251025025024 |NO2SW  S73 00 00 00 3253 02502502F | NozW 373 00 00 00 3253 02502502F
NOSOW 505 00 00 00 3248 05005005) | NOSWG 505 00 00 00 248 05005005 | NOSOW 567 00 00 00 3248 05005005} | NOSOW 567 00 00 00 3248 05005005) =
NoTSW, 730 00 00 00 337 07507507h | NOTSW 730 00 00 00 3237 075075074 |NOSW 761 00 00 00 3237 075075074 |nNorsw, 761 00 00 00 3237 07507507h , 3

NIOOW=W, 954 00 00 00 00 1001001

ATG20-TN, LABTal, adapted=niot adapied

ATG20-8N, [ABTal, adapted=niot adapied

AISZT=TN, [ABTa3, adapted=niot adapied

AISZT-8N, [ABTa3, adapted=niot adapied

=R according to CIE R1-47:2009 forsRGBdisplay L, =0% according to CIE R1-47:2009 forsRGBdisplay L, according to CIE R1-47:2009 forsRGBdisplay L, =1,2% according to CIE R1-47:2000 forsRGBdisplay L, =1.2% | & &
oo a2
S o | s conmayive e w25 5216221 3 colours of he clementary NRYGES hygg= 25,2, 162,271 16sep lomentay he il wit N = 25, 2, 162,271 3 colous of heclementary heRYGE: = 25,92, 162,271 | o N
8 o Lae e Dae Clanao hane 1% Lae @ac Dae Clanao hane fOb%e Code Lae e Dae Clanao hane 1% Code Lae @e Dae Clanao hane 1% 33
N 509 781 371 864 254 10000000 781 371 4 254 10000000) |RODG=R, 520 752 359 834 254 100000000 | ROON=R, 520 752 359 834 254 10000000p D B
o 522 719 652 971 421 10002500 |OS5R.+05N. 254 390 185 432 254  0500.000.0f R25Y, 550 645 584 870 421 100025000 |O5R+05N. 315 376 179 417 254  0500.000.f
a4
3.3 61 427 707 826 505 10005000) | 0SR+0SW791 300 185 432 254 10005008 | RSO, 645 06 657 767 58 10005000h |OSR0SW7T 6 179 417 254 10005008h S}
~= 727 197 7 792 755 10007500 RIS, 734 185 726 750 756  10007500) c
T 836 34 842 843 923 10010000D | YOGSY, B36 34 842 843 923 10010000p | YOOG=Y, 837 32 07 807 923 10010000p | V00G=Y 37 32 807 807 923 1001000050 U3
oz 08 318 885 940 1097 07510000p | 05%+0SN 418 -17 421 421 923 05005000D | Y2G 910 -308 856 910 1098 0751000, 05%+05N 473 -16 403 403 923 05005000) D °
s= 89 630 827 1060 1272 050100000 | 0S%+05W 895 17 421 421 923 10010005 | VG 862 607 796 10031272 050100000 | 05%+0SW 895 16 403 403 923 10010008 % N
30T 841 786 sa1 938 147 0281000 Viea a2 790 550 16 iur 0231000, 5O
T @1 642 205 674 1622 0001000 | GOOR=G, 851 -642 205 674 1622 000100000 | GOOR=G, 853 -626 201 660 1622 000100000 | GWOR=G, 853 -628 201 660 1622 00010000D ) >
oF 71 95 B4 502 1896 00010008 | 05GOS 425 321 102 337 122 0000500GD | G2 723 ~486 82 493 1895 00010005 |05G+0SN 481 314 100 350 1622 00005000p 3 D
) 1 @9 26 425 270 0001001 05GOS -1 102 N7 1622 05010008 |GS0R 794 B3I 250 417 269 001001 |05G+0SK3 34 100 30 1622 05010005
oo 701 188 91 434 242 0000501 Gra, 705 183 B4 426 2444 0000501 £g
= 593 17  -560 561 2717 0000001 B00F 593 17 560 561 2717 0.000001 BOOR,=B, 601 16 -548 548 2717 0000001 BOOR,=B, 601 16 -548 548 2717 00000010p =%
=
T2 3 525 03 1044 %01 0500001(h | 05 OSN 296 05 O 0 717 0000M00% |mSw © 4 Ste a4 1023 %01 05000010 | 05a%0SN %5 08 274 4 217 00000 k
== 573 942 -574 1104 3286 10000010 | 058+05W77.4 08 280 280 2717 0500501 BSOR, 581 916 -559 1073 3286 1000001 058+05W 7T 08 274 274 2717 05005010p QL T>
z S5 623 -42 824 370 1000000 7SR, 515 796 -40 797 3570 1000000 "o
o 5 step equidistant grey scalet* o = 0.0, 23.8, 47.7, 715, 95.4 5 step equidistant grey scalet* o = 0.0, 23.8,47.7, 715, 95.4 5 step equidistant grey scalet* o = 10.9, 32.0, 532, 74.3, 95.4 5 step equidistant grey scalet* o = 109, 32.0, 532, 74.3, 95.4 5; N
=2 Use @'ae D'ae ClabaeMane b Wae Dae Clabae e 1D Use @'ac D'ae ClabaeMane 19 Code [ENE abas Mane 00 3>
5= 0 00 00 00 00 00000000 00 00 00 00 00000000) 109 00 00 00 00 00000000) |NOOOW=N,109 00 00 00 00 0000000047 (5
=1 238 00 00 00 3253 02502502 00 00 00 3253 02502502 321 00 00 00 32565 02502502 NOZSW, 321 00 00 00 3256 025025025 @ N)
o 77 00 00 00 3251 05005005 00 00 00 35105005005 31 00 00 00 255 050050050 |NGSOW 5.1 00 00 00 3255 05005005) o =
o) 74 00 00 00 351 07507507 00 00 00 35107507507 742 00 00 00 323507507507k |Now 72 00 00 00 3235 07507507
33 |Mmowswsse 00 00 00 10010010) | NIOOW =W, %54 0O 00 00 00 1001001 NIOOW =W, 954 00 00 00 10010010f | NIOW-VeS54 00 00 00 00 10010010p 5 >
D AN AR, adaed=nor adaped AIO20-AN, LRG0, AIG2T=3N, CABTaz, adapted=rot adapied AG2T=AN, CABTaz, adapted=rot adapied 7
N o4
o> o
= <4
o —~
= h
g% 3

grafico TUB-AI92; CIE data SRGB display immetterew/rgb/cmyk —> w/rgb/cmyk
elementary hue circle; mixture colours; Lr=0to 2,5% uscita: nessun cam%’.amemo %
< T v s T £




